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Direction: Read the following passage (B) By fhe wave of a magic Wand
carefully and answer the questions |

i C) B f hard work
(Q. Naos. 1 to 5) choosing the correct (C) ymeanso ard wor

alternative : (D) Byindulgingin illegal activities
The world owes no man a living but that it 2. Man can strike a balance between his
owes every man an opportunity to make a desires and his achievements by:

living. Whatever man needs, he must
acquire through hard work. Nobody can
fulfil his wants by the wave of a magic wand. (

If anyone wants to have anythingwithout ~ (C) Indulgingin laziness
undertaking the burden of labour, he has | ( |

to either live on others’ labour or indulge in

(A) Giving in to procrastination

B) Being unwilling to work

D) Doing hard Jabour

illegal activities which deserves no dignity : 3. Which of the following is a white-collar

atall. For success in life, man has to strike e worker ?
a unique balance b'etw_een" his desiresand . (A) A farmer
his achi ts. Thi be achi . 3

. ievements. This canbe achleyed. (B) Abank officer
through hard labour, physical or mental. If RN :

" man is not willing to-work or indulges in (©) Ar'n-lner} B
laziness or gives in to procrastination, he &% (D) Anindustrial worker
cannot survive'in a meaningful Way. . 4 Qne who lives on others’ labouris :
Unfortunately, the youth of today have little SR ; ' :
. g (A) Afool
respect for physical work and hanker after- _ :
whitecollar jobs with comfortable work (B) ‘Athief
places and fat salaries without making their ~ (C) Aparasite -'

hands dirty. They should understand the

(D) AIaZy persdn :
dignity of physical labour. They should .

keep it in mind that no nation can flourlsh : 5. : The mOStamePnate title of the given
“without the hard physncal work done by ' passage can be
farmers, miners, and industrial labour who e (A) Dlgnqtyof Labour

kethewhvm by the sweat of their brow. ; ‘
- o (®) Struggle for Existence

1. How can man fulfil his wants in an

honourable way ? +. (C) The Youth of Today

~ (A) Bylivingon othérs"lébour (D) SUFCG§S in Lifg

oD-1BM7 (2): 3 : Contd.
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Direction : Answer the questions 10. Which of the following words is - -

(Q. Nos. 6 tq 15_)'choosing the correct correctly spelt ?
alternative : (A) Absense
6. The word similar in meaning to (B) Acceptible
‘flourish’ is : : -
(C) Aknowledge
(A) Perish _
' (D) Accommodate

~ (B) Prosper - :
(C) Wither - - 11. Which of the following sentences is
correctly punctuated ? ’

(D) Acquire
1o O3 . (A) The prince wonders, What a
7. The word opposite in meaning to . piece of work is a man ! . i
‘Industrious’is : : ‘ o
(B) The prince wonders, “What a

(A) Courageous piece of work is a man !”

.(B) Stupld | (C) The prince wond'ers, “What a

(C) Lazy ' , piece of work is a man” _

(D) Clever : : (D) The pri‘nce wonders “What a

8.. Border conflict is always a " piece of work is a man.!” |
_ issue between two R SR

el 04 12 Alas 'How quickly things go wrong !

The underlined wordis a:

Pick outthe most suitableword. =~ .

; (A) debate -
(B) debating -
(C) debated
(D) debatable

“(B) Preposition
(C) Interjection -
o (D) Conjuncﬁon

T 13: Had 1. the wi
9. Teacher______ alimydoubts ad | the wings _of a dove, |

: ) : __across the seas.
in English grammar. :

Pick out the most suitable word. The correct form of the verb is

(A) clarified | 5, (A)'. will fly
- (B) clarify G , (B) would fly |
(C) clarification - (C) Sha"be ﬂyihg (e |
(D) clarifying (D), canfly
- OD-1B/17 el e ) . (Tumover)
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14, Who has been teaching you English ?

- (B) By whom had you been taught

15.

The sentence can be changed into

passive voice as :

(A) By whom have you been taught
English ?

Engllsh e

(C) By whom is Engllsh taught to
you ? -

(D) By whom are you bemg taught

English?

Teacher said to his pupils, “Are you = -

ready for the test ?”.

The sentence éan be changed into

indirect speech as :

g0 g 9l ¢ 99, A6 694 @@

e,
L ) QI°QIIQ€Q QIclIgEIe 6891

(A) Teacher asked h|s puplls were

they ready for the test.
were ready for the test.

they were ready forthe test. -

(D) Teacher asked his pupils if they

" hadbeen ready-fbr the test.

goa agsm ag es g er gqsl@sm o
[@e QI 6a%t |

- 21 99 69, A°AIRER Q8 QARIFEO

9q 99 QIF, @ 4 68lITal FI6Q 2l6q

QIE | NETIE 6AISHO! ISR | 698,

afge 9d 9age 9913 6Q1g, 660 QI

oD - 1B/17

(C) Teacher asked his pupils that if ' 17.

18,
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aGelca g 2gae @6a | 6a7ad
Plouaice 0AgARIGaV! 621g I ARG
6 21goqldy 6291 6aIE 9861 UFAR
cad | qQId 2IaGR a6dI 9l gOIRde

iede Gaia gef, 6agala a4 8 ARIR

cqIgl | 98 6298 ¢, 60Q6 Rilole
Aig @4 8 gél, &4 QI QIR AGFD,
QIZ6Q q@n -R90i6a @ 6969 geicen
e @@ gl g\fl 6a aQid @’ 6 &A@ ?
\ dg Geaq QaIgel AR QaER OISR
25qb ene AAAIGER FEQ Q6a |

RIalg oY 69IR gRIIaE ?

‘ (B) gaIegan e@em 62 Q8 QQ@ 9 2149l
. ) mglg g %uq@ GQQI

(B) Teacher asked his pUpllS tfthey ;"-”,(D) N q_@@%@ maq sela

G?QQI

GGRIGGP 08%1 QRS CIIZJIEB 2J

4 (A) Gaﬂﬂ G?QQI Gi?,llg~

(B) agel ea aRIge. 2l GE]IGJ_

~ (C) cdge eaaqm 629l 629 .
| © afgea Q@uen GQQ

_q@@&ﬁ@ ?J@@@ GPIQI @GGQ Q@Q G?GQ 7.

‘ ”(A) 290 G909 @Iéﬂ@l

B 8¢l 9o 1092 6ol
~ (©) getimiag eea Ace adel
- (D) g g@ﬂt@é@ 6291 '

- Contd. '
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19. 6@ Y UBY Q) AIEN o QRIAIN ? (C) Ueed qiag
(A 8,9 B L (D) 996 QiaR -
(B) 299, oacg 24, 6796 WA QRIND AFNILR ARIRRE ?
C) ®a » Gong | ‘
D) 9,4 ‘ (B) 9RaId
20. ‘Q9QY’ §0Q AYQAT Q'4 7 (C) Q9g1
(A) 99 +QY (D) uRe
(B) «aQ +ear | i o5 "qqqméa 6RSIF 005 6adl daBgeR 7
(C) @m + Q. : it : 201P9Q ITIIMNQ AQR 621023 |
(D) 9aQ + e - (M geal ! :
21. B89@ 4894 6qels 7 “ (B) .99_5"
e C).En
® 9 R
- (C) gds. . o . : 26._BywhichyT're»aty,'Bri‘tish acquired the .
(D) ﬂﬂﬁ e s | ~~ Diwani rights of Bgngal, B‘ihar and ;

‘_Odlsha'? '

22. “”eﬂ ﬂ@ G@IQQ 6069 91%‘@@ Q@ glﬁd‘;{“ | (A) Treaty éf Salbal ‘

Q2! 628, @qm o710 &2 a9 e@m@ ’
421 689 QI Q1Y ?

(B) Treaty ofAmrltsar
i (C) Treaty ofAIlahabad

(A) doR :
i = ;-(D)_ TreatyofPurandhar
~(B) 6d1Ge L - ), e e
i s - 27. Which was the first Princely State to
(C) eoa- LT o it
. be annexed to the British empire
(D) g - underthe Doctnne of Lapse'7
23. Gal qégsaiaia@@s ‘6@6@6969’@9“9 ~ (A) Jhansi '
g4 6R, ARAER es?a A0 ﬁ@alel? 5 “(B) Nagpur ,
(A @Rrees @ee . (C)Sambalpur
B) geieeeasiee - (D Satara
OB BT s i o o T SR Y el i N (T ovel s
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28.

= |V

Where did Swami Vivekananda
deliver his famous speech at the
Parliament of Religions ?

| (A) New York

(B) Chicago

k (C) _California

29.

30.

(D) Washington.

Who is credited with the passing Of .

Hindu wrdows Remarrlage Act,
1856 ?

(A) Rammohan Roy ‘

(B) Dayananda Saraswatl

(C) Keshab.Chandra Sen _

(D) IshwarChandraVidyas'agar g

Who did establish Satyasodhak Lk

Samaj ? B
(A) E.V. Ra'mas.w‘amy Naicker -
(B) Joti Govindrao Phule

(C) Sree Narayan Guru

* (D) B.R.Ambedkar

31.
~Congress adopt the resolution on .

Where did the Indian Na’tional

“*Non- cOoperatlon Movement' at |ts

annual session ?

(A) Bombay

-.(B) Madras

(C) Calcutta * -
(D) Nagpur

0D - 1B/17
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32 In which Gandhian movement did

- Aruna Asaf Ali play a very prominent

role ?

(A) Non-Cooperation Movement

(B) Civil Disobedience Movement .

(C) Individual Civil Disobedience
Movement

(D) Quitlhdia Movement

Which Ernperor of Frarrce said, ‘After

me the Deluge’ ?

(A Louis XIV

(B) Louis XV

_‘(C) Louis XVI -

. (D) Louis XVIIl -

34.

35.

WhICh country did withd raw from the

"First World War when the War was still - -
going?onﬂ_? i & |
(&) Japan
(B.)'Aus.tria‘ |
(C) Russia
(D) Turkey_

The attack on which country by

Germany led to the startlng of the
second World War I

7 ‘(A) France

(B). England

' (CY Russia
' (D) Poland

(6).5

Contd. :
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36.

37.

3.

39.

. OD-1B/7

Who from below was not a member
of the Cabinet Mission constituted for
the purpose of formétion of
ConstituehtAssemny ?

(A) Lord Wavel

(B) SirPethick Lawrence
(C) Sir Stafford Gripps
(D) SirA.V.Alexander

Which one is the correct expression
of the structure recommended by the
Preamble ?

(A) Sovereign Secular Socialist
Democratic Republic

40.

- 41,

(B) SecfularState

(C) Rigid Constitution

(D) Single In'tegrated Judicial system
Who presides over Joint Session of
Parliament ?

(A) Presidentof India

B) Vicé-President of India

)
(B)
(C) Speaker of Lok Sabha
(D)

- (D) The House elects a Chairfnan

Which State below has no second
Chamber (Legislative Council) ?

* (A) ‘Maharashtra

(B) Sovereign Socialist Democratic 4

Secular Republic

(C) Sovereign Secular Democratic

Socialist Republic

(D)-Sovereign Socialisf Secular
Democratic Republic

Seventh Schedule of the Constitttion ‘

deals with :

(A) ProVisionswith'regard tO'Norfh- _

East

(B) Dis’tribuvtion of power between

Unionand States
(C) Languages of the Union

(D) Provision of Oath by Prime
Minister etc.

Which one is not a salient feature of

the Constitution of India ?

(A) 'Parliamen@ary Goverhm_ent

k4o,

43,

(B) Madhya Pradesh-
(C) Andhra Pradesh -
(D) Uttar Pradesh

Who appoints Judges of High Court?
(A) President .

.(B) Governordetates ;
(C) ChiefJustice of India
(D)

D). Collegium system of Apex Court

What is the i.r_hportan‘ce of Article
1437 - '

(A) It 'de‘aAls with special powers of

Apex Court.

(B) Provision with regard to Judicial

Teview. :

(C) Presidents powerto seek opinion

‘of the Apex Court on matters of

importance.

(D) Power of transfer of cases from .

one Court to another.

(Turn over)
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44,

The Basic Structure Doctrine was sPelt

- outinthe judgement of :

45.

e
a1
(

46,

(A) Shankari Prashad
(B) Golaknath ;
(C) Késhavananda B'harati‘
(D) Minervails

By which Amendment of the

Constitution the Rightto Property was

removed from the lst of Fundamental -

Rights ?

(&) 24" Amendment
B) 29mAmendment
C) 42" @ Amendment .
D) 4 4”‘Amendment

- which is located 3 hours ahead of

Greenwich? -

W W

(B) 45°E-
(C) 30°W
(D)

(D 30°

41.

Whlch Mountain pass does join -

- Sikkim with China ?

48,

" isknownas: = -, "

'(B) The Nepal Himalayas

(A) Dipher Pass

(B Nathula Pass

)

(B) |
(C) Jelep La Pass
(D)

0 PangsauPass

The part of the Himalayas lying T

between the ‘Sutlej and the Kali rivers

(A) The Punjab Hlmalayas .

(C) The Kumaon Himalayas

. (D) TheAssam Himalayas

49. Which State has the maximum area

- 80,

under deciduous forest cover ?
A) Madhya Pradesh :
B) Odisha

C) Chhatisgarh

)

(
(
(
(D) Jharkhand

Why doesthe climate of Amritsarand
Shimla vary even if both are located -

almost on the same latitude ?
(A) Difference in their alfitude-

- (B) Distance fromthe Sea
& (C) Snowfall in Shlmla

| . (D) Pollution 1nAmrltsar
What is the Iongitude of MOSCOW . .~ 5
51. The soil formed by wind dust in and y

' ‘around hot desens is known as:

(A Sity

A
©
(

B) Loamy -
) Sandy
D) Loess '_

2. What is-the most lmportant use of o
2R Gypsum’? '

7 (A) ‘Paper mdustry

(B) Fertmzerlndustry
(C) Plasterof Paris
( )

o (0] Texﬂlemdusry

53, Which Nationai Park is famous for .

' EIephants i

'(A) Slmmpal :
(B) Periyar

(C) Manjira

) Rathambore

 Contd.
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54. After Textiles, which is India‘s most

important industry in terms of
contribution to GDP ?

(A) Sugar

(B) Food Processing
(C) Aluminium

(lj) Iron and Steel

55. Which programme has been launched

by NABARD to promote natural'g

farmmg'?
(A) URJA
(B) PRAAN -
(C) AYUSH
(D) JIVA

56. Which of the following is a blodlver3|ty :

hotspotlnlndta’? s

. (A) The Western Ghats»
(B) The Sundarbans

- (C) The Eastern Ghats :
(D) The GulfofMannar

| 57 Wthh is the most literate tribein Indla‘ o
_ -~ -unlessone |ooks upon not only all fellow

- men but-all- creation with- the eyes of a
"fnend Throughoutlndla edicts carved on
- rocks oriron plllars are reminders that 22 -
~ centuries ago Emperor Ashoka defineda.

as per 2011 Census'? 1
(A) Kandha

_ (B) Saura'

.+ (C) Santal .
(D) Gond

- 58. What does absolute povertymean” .
(A) Poverty in terms of absolute A

 number of people

(B) Poverty in terms of bale o

minimum calorie requirements

(C) Poverty in terms exnstlng P”Ce '

level

in .

(D) Poverty in terms of absolute |e"e|
- of unemployment | :

- 0D-1B/17
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59. The rate at which Reserve Bank of
| India lends money to Commerciai
Banks is known as :

(A) CRR

(B) SLR

(C) Répo .Rate

(D) Reverse Repo Rate

60. Which graph does reflect the
relationship between a country’s per
capita income and its inequality of
income distribution ?

(A Lorenz Curve
(B) Phillips Curve
(C) LafferCurve

(D) Kuznets Curve _

- Readthe paSsage’carefuIIyand answer .
. the questions (Q. Nos. 61 to 64)

chodsing the'cbrrect‘altemative

One cannot be truly human and c1v1l|zed

King's duty as notmerely to protect citizens
and ,p,Unish wrong-doers but also to

preserve animal life and forest trees.
‘Ashokawas the first and pérhaps the only
. monarch until very recentiy to forbid the

killing of a large number of species of -

animnals for sport or food. He'went further,
lregrettmg carnage of h|s military conquests

“and enjoining upon his successors to find -

: (Turri'dver_) ;
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“their only pleasure in the peace that comes

through righteousness”.

It is said that in country after .country,
'progress should become synonymous with
assault on nature. We, who are a part of

nature and dependent on her for every

need, speak constantly about “exploiting”.

nature. When the highest mountain in the
world claimed in 1953, Jawaharlal Nehru
objected to the phrase “Conquest of
* Everest’ which he thoughtwas arrogant. Is
it surprising that this lack of consideration

and the constant need to prove one's

superiority should be projected on to our- -

treatment of our fellow men..

61. What in Ashoka’s opinion is not-the-!

duty of aKing ?
(A) To protect citizens

(B) To puhish thewrong-doers .

' (C) To collect tax and frII the royal

treasury

(D) To preserve animal life a‘nd{ forest -

trees
62. Why is Ashoka a urﬁque monarch? .

(A) Hewasagreat m|I|tary conqueror

(B) He enjoined upon his successors

to enjoy peace through

righteousness.

OD -1B/17

(10)
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(C) He carved edicts on rocks oriron
pillars. |
(D) He p'reserved animal life and

forest trees.

63. Whydid Jawaharlal Nehru object to the
phrase “Conquest of Everest” ?

(A) Itspeaks of man's cruelty.
(B) It speaks of man’s assault on
nature.
(C) It speaks of rnan’s selfishness.
(D) It speaks of man_'s arrogance.

64. How, according to the author, can one
“be truly human and civilized ?

¥ (A) If one.looks upon his fellow men

‘and all creation as a frlend

(B) If one looks down upon his fellow
- menand all creation.

£ 5o If one speaks constantly about

explomng nature. |
(‘D) If one prOJects oneself as superlor 5

toallone's fellow men.

Drrectron : Answer the questrons
(Q. Nos 65t0 70) choosrng the correct

_alternatlve

. 65. The word similar ‘in meanmg to

: 'Conquest‘rs
' (A) Surrender
(B) Defeat
(®) Carnage
’ (D) Victory =

: ’Contd.,
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66. The word opposite in meaning to 69 Ag soon as he realised his mistake
.‘Natoral is: - he said, “Sorry”
rA) Genuine This sentence can be rewritten usrng
(B) Unaffected ‘No sooner' as :
(C) Artificial (A) No 'sooner he reali_sed his

(D) Spontaneous =

67. A single word for the expression
“pleasant and friendly” is:

(A) Notorious

(B) Amiable

(C) Amicable
4 (D) Courteous'

68. He has not done his homework He -

has not brought hIS note-book to class

ini cesinta | b i : ;
Combining these two senten . Combining these two sentences into

a single sentence using ‘neither ... nor'’

weget:

(A) Neither he has dohe hls

homework nor brought his note-f?:,,,'-a :

book to class

(B) He has done neither his . -

homework nor brought hrs note-

book to class

(C) He has nelther done hIS

homework nor brought his note-

book 'to class.

(D) He has done his homework -

neither nor brought his notejbook_" '

- toclass.

OD-1B/17

mistake, he said, “Sorry”.

(B) No sooner he realised his
mistake than he said, “Sorry”.

*(C) No sooner had he'realis,ed his

mistake than he said, “Sorry”.

(D) No sooner than he realised his
mistake he said, “Sorry”

:; Durmg the rarns Ananya has planted

afew saplmgs Her brothers have also
planted a. few saplings.

a single sentence using ‘as well as’ we

get:

(A "Duri_hg.the_:rains,Ananya as well

" as her brothers have planted a

A 'few_saplings.

(B) During the rains, Ananya as well

as her brothers has planted a few
saplings. 3

(C) During the rains, Ananya has |

_planted a few saplings as well as

- her brothers planted a few

saplings.

_(D)"During the rains, Ananya has

planted a few saplings as wellas

her brothers.

(Turn over.)



https://applink.adda247.com/d/XhqWf9lSap

Adda247

71. The first COVID-19 vaccine of India (C) Double citizenship
developed by Bharat Biotech is - : ‘ (D) Secular State
(A) Covishield
(B) Corbevax
(C) Covaxin

76. With regard to Names and Positions
held, identify the wrong :

(A) Shashikanta Das : Governor of

(D) Modema RB..
72. The parasite that causes Malari:a | (B) Biswabhusan Harichandan :
- belongsto:" " G Governor of Andhra Pradesh
(A) Virus _ ~(C,) Kamala Harris : Vice-President of -
(B) Bacteria .. e O U.SA.
(9] Proto'zoe .Q ‘ , | ~(D)‘J.P. Nadda: 'Presidentof B

D) Helminthes = (A | S
( )_ S : ~ 77. Inwhich year was the University Grants
- 73. India is a ‘Quasi Federation' Who - ~ Commission established ?
O LR e Sl i e

‘ ' (A) lvorJennings - : ‘

| b (B) 1949
. (®HDlas T
(C) K.C.Wheare " . —1 _-

(D) S. E. Finer.

e 78. WhICh ofthe followmg Commlssmn s

74.G- 20 was CO"St'tUtEd in the year " report recommended for mtroductlon

'(A). 1991 . Sas , _ofa Common School System of Public
- (B)1999 .S Ee }Educatlon‘? ' |
(C)2000 . . . . (A) University . Education
(D) 2008 ‘. s Commission, 1948-49
- 75. Which one isnotas‘alientfeature of & (‘B) Secondary T Educat|on‘
the Indian Constitution? - R ' Comm|ssnon 1952 53 _
(A) Parliamentary  form = of . | _(C).l-nd,'.an Educatjon Commission,
- Government £, o - 1964-66 PR B
' '(B) Prowswn fOFAmendment ofthe s (D). International Commission of
Constltutlon St -~ Development of Education,1972
‘oD -1BI1T. ‘ e (2~ it L St U dGontd,
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‘7.9. Whe among the following was the 83, A series of numbers is given where’
Chalrm‘an.ofthe Netlonal Knowledge one number is missing. Find the
Commission of India ? ' missing number from the given
(A) Prof. Yashpal . alternatives.

(B) Sam Pitroda  2510,(2,26,37
(C) Prof. Ved Prakash ' (n) 15
- (D) AcharyaRamamurthy . (B) 16
80. Which of the following Organisations (&) "/
(D) 16

was established to evaluate the '
~ performance of the Colleges and . g4. From the following Statements and.

Universitiesinln_dia? s D i ConcIUsio'ns,;ﬁnd the correct answer
(A) N.CERT. g ~frem the given alternatives :
| (B) NlC.T. E s . i'v-""‘"';Stateménts :-1.Some actors are singers. :
(C) NAAC. Al singers-are dancers
A (D) U. GC Con‘clusrons 1 Some actors are dancers
:81. Which letter is the gt Iettertothe nght 1o = 2N srngerrs adtor.
oftheletterwhlch |s12thfrom the Ieft @) OnlyConcIusron Al follows
o Engllsh alphabet’? ~(B) Only Conclusmn L follows
: (A) " (C) Both the Qonclusrons ‘1’and ‘2’ i
o el o foIIow o
(B.) U_' e i : £ (D) Nelther Conclusron ‘1 nor ‘2"
©Ss e Sl folowsi L |
CrE ‘ i - ", i T *85. Arrange the following words in a
82. If CLOCK is codéd as 36938 .-a':nd“ = i .meanmgful sequence e
 LEAVE is coded as 62452, then  1.Sentence, 2. Paragraph, 3. word

4, Letters 5. Phrase

~ ‘CAVE'should be coded as :
e (A)4,1,5,3,2

(A) 4325 k)
(B) 3451 B 195,25
©) 3453 (O 42513

© op-1BMT AL e (Tum over)
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86

87.

88.

89,

L OD~1BN17
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If Ais the brother of B, B is the sister
of C and C is the son of D, how D is
relatedto A ?

(A) Brother
(B) Nephew
(C) Father
(D) Uncle

Find out the alternative that will replace
the question mark in the following
question:

Paw: Cat :: Hoof : (?)
(A) Lamb

(B) Horse

(©) Elep'hant

(D) Lion
Y is in the east of X who s in the north
of Z. If P is in the south of Z, then in

which direction of Yis P ?
(A) North

(B) South-East

(C) South

(D) South-West

| have a few sweets to be distributed, *
Ifl put2v,3 or 4Iin apack, [ am left with

one sweet. If | keep five in a-pack, |

am left with none. What is the minimum-

number of sweets l have to pack and
distribute 7

(A) 25
(B) 87 -
(C) 85
(D) 65

90. Choose the word which is different

from the rest in the given alternatives :
(A) Rigveda
(B) Ayurveda
(C) Yajurveaa
. (D) Samavedav'

91. Which of the following is not related to
~Creativity ?
(A) 'Cbnformity
~ (B) Originality
(i) Fluenéy
D) Flexiilty

_ 92. WhICh ofthefollowmg is not related to

' introducing a: Iesson at mtroductLon
stage?
(A) Assessméntofentry performance
(B) Assessment - of ‘,pre\'/i_ous
. _knowledge i

- (C) Assesém’ent of 'leérning. ,

~ “outcomes of the top|c being.
taught

(D) RelatingAt'o' the ess'enc'e,'of'the_
* topic '
93. Which type of Iearriirfgj influences fhe’
. attitude and values of the Iearners ?
(A) Affective
(B) Cogmt;ve 5
(C) Conativ_e‘
g (Q) Psychomqtdr

.-(..14') o ~ Contd.
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94. Which of the following teaching- (B) Tryto know the reason

technigues is most appropriate for (C) Advise to be punctual
arousing interest in the |

= . SataersT (D) Inform the parents
(A) Punishment
(B) Reinforcement and reward 5 g98. Ateacher’s statement during teaching

(C) Feedback ' v that encourages the students to

(D) Blame and threat of failure i explore'more facts is called :

. : : (A) Structuring
95. Which of the following is not a step

involved in a project method ? . (B) Endagemmentiiy the leahing

; ' e process
(A) Estimating : ( : ‘ :
&P ) . _ ‘ B (C) Instructional variation -
anning Fe sl
, : ‘ S (D) Probing
(&3] Recording ey o e : ,
99. SWAYAM platform facilitates hosting

‘of all courses taught :

(D) lmplementmg

96. Which ofthe followmg isnota teachlng

- (A) From CIass—V to P.G. level
skill ?

(B) From Class-IX to P.G. level .

(A) Skill of stimulus variation
(C) From Class-XI to U. G level only

(B) SkKkill of reinforcement
" (D) .- ForP.G.level only

(C) Skill of problerh soIVing

(D) Skill of explanation’ :
level ofteachlng 2 2

97: Wh:ch of the followmg is not an (A) Application w—
"(B) Uﬁdérst_anding ’ ‘
(C) Memory A

(D) Reflective e

. appropriate behaviour of a Teac:her.,ﬂ,1
the event of a student coming late to

the class ?

(A) Award punishment :

OD - 1B/17 (15) ‘(Tgmcver)
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100 Which of the followmg |s the lowest
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